Opgavenblad

Opgave Primitiveer Kleur Nummer
1 f(x)=6e*+3 -
2 f(x) =2x3—4x?+3
3 f(x) = 3sin(x) — 2 cos(x)
A o) = x* — 6x32 + 8x
X
5 fx) =x*-Vx
5 fo) ==
7 f(x) =-8-10*
8 f(x) =pVx+px+p
9 Fo =2
10 f(x) =2a-e* + 3a?

Let op: je magin je eindantwoord geen negatieve en gebroken exponenten laten staan!



Antwoordblad

Opgave | Primitiveer
1 f(x) =6e*+3
2 f(x) =2x3—4x?>+3
3 f(x) = 3sin(x) — 2 cos(x)
A o) = x* — 6x32 + 8x
X
5 fl)=x*x
. () = —
f X) = xz\/z
7 f(x) =—-8-10%
8 f(x) =pVx+px +p
: Fo) ==
2x
10 f(x) =2a-e* + 3a?

Kleur

Nr Oplossing
3 F(x)=6e*+3x+C
_ 1, 4
g F(x)—zx 3 +3x+C
1 F(x) = —3cos(x) — 2sin(x) + C
1 8
12 F(x)==x?—=6In|x| ——+C
2 X
3 3
14 F(x) =—=x*-3Ix+C
13
8 F(x) - +C
xX)=———
xVx
11 Foo = o2 ¢
)= T 0y
2 1
5 F(x)=§p-x\/§+§px2+px+C
X
7 F =
(x) 1n(4)+C
) F(x) =2a-e*+3a?x+C







4 |4 |4 |4 4 | a 4 2 2 4 4 | 4 4 |4 |a 4
4 |4 |4 |4 4 | 4 2 3 3 3 2 4 | 4 4 |4 |a 4
4 |4 |4 |4 4 | 4 2 3 3 3 2 4 | 4 4 | 4 | a 4
0 | 10 |10 | 10 | 10 |1 3 3 1 | 3 3 1 10 | 10 | 10 | 10 | 10
0 | 10 |10 | 10 | 1 8 8 8 8 8 8 8 1 10 | 10 | 10 | 10
13 | 13 | 13 | 13 | 1 8 8 8 8 8 8 8 1 13 | 13 | 13 | 13
13 | 13 | 13 | 1 5 5 1n |5 5 1n |5 5 5 1 13 | 13 | 13
13 | 13 | 2 5 5 5 5 5 5 5 5 5 5 5 2 13 | 13
13 | 13 | 2 5 5 5 5 5 5 5 5 5 5 5 2 13 | 13
13 | 2 8 8 8 1 | 8 8 8 8 8 1 | 8 8 8 2 13
13 | 2 2 8 8 8 8 1 | 8 8 8 8 8 8 2 2 13
2 12 | 7 2 3 3 3 3 3 3 3 3 3 2 7 12 | 2
2 12 | 7 7 2 2 3 3 3 3 3 2 2 7 7 12 | 2
6 2 12 | 7 7 7 2 2 2 2 2 7 7 7 12 | 2 6
6 6 14 |14 |12 |7 9 9 9 9 9 7 12 |14 |14 | 6 6
6 6 6 6 14 | 14 |12 |12 |12 |12 |12 | 14 | 14 | 6 6 6 6
6 6 6 6 6 6 14 | 14 |14 | 14 | 14 | 6 6 6 6 6 6
4 |4 |4 |4 4 | a 4 2 2 4 4 | 4 4 |4 |a 4
4 |4 |4 |4 4 | 4 2 3 3 3 2 4 | 4 4 |4 | a 4
4 |4 |4 |4 4 | 4 2 3 3 3 2 4 | 4 4 |4 |a 4
0 | 10 [ 10 | 10 | 10 | 1 3 3 1 | 3 3 1 10 | 10 [ 10 | 10 | 10
0 | 10 |10 | 10 | 1 8 8 8 8 8 8 8 1 10 | 10 | 10 | 10
13 | 13 |13 | 13 | 1 8 8 8 8 8 8 8 1 13 | 13 |13 | 13
13 | 13 | 13 | 1 5 5 1m |5 5 1m |5 5 5 1 13 | 13 | 13
13 | 13 | 2 5 5 5 5 5 5 5 5 5 5 5 2 13 | 13
13 | 13 | 2 5 5 5 5 5 5 5 5 5 5 5 2 13 | 13
13 | 2 8 8 8 1 | 8 8 8 8 8 1 | 8 8 8 2 13
13 | 2 2 8 8 8 8 1 | 8 8 8 8 8 8 2 2 13
2 12 | 7 2 3 3 3 3 3 3 3 3 3 2 7 12 | 2
2 12 | 7 7 2 2 3 3 3 3 3 2 2 7 7 12 | 2
6 2 12 | 7 7 7 2 2 2 2 2 7 7 7 12 | 2 6
6 6 14 | 14 |12 | 7 9 9 9 9 9 7 12 | 14 | 14 | 6 6
6 6 6 6 14 | 14 |12 | 12 |12 |12 | 12 | 14 | 14 | 6 6 6 6
6 6 6 6 6 6 14 | 14 |14 | 14 | 14 | 6 6 6 6 6 6




